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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

1. This question paper consists of NINE questions.
2. Answer ALL the questions.
3. Number the answers correctly according to the numbering system used in this

question paper.

4. Clearly show ALL calculations, diagrams, graphs et cetera that you have used in
determining the answers.

5. Answers only will not necessarily be awarded full marks.

6. You may use an approved scientific calculator (non-programmable and
non-graphical), unless stated otherwise.

7. Round off answers to TWO decimal places, unless stated otherwise.
8. Diagrams are NOT necessarily drawn to scale.
9. Write neatly and legibly.
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QUESTION 1

1.1 Solve for x :

L @e-3)ar7)=0 @

1.1.2 7x* +3x -2 =0 (leave your answer correct to TWO decimal places) (3)

1.1.3 Vi-1+3=x (6)

1.1.4 x? > 3(x+6) 4)
1.2 Solve for x and y simultaneously:

2y+x=1

x>+  +3xy+y=0 (6)
1.3 If fix)=0 hasroots x= =3t 3—12k2 , for which values of k& will the roots be

equal? 3)

[24]

QUESTION 2
2.1 Simplify fully, WITHOUT using a calculator:

gmed _ g gmil

7.3 4)

2.2 Solve for x, WITHOUT using a calculator:

221 x ' =8 3)

222 4" -2"=2 )
23 If x= El\/—;_—/é and y= 4 i_/%/; , determine the value of (x + y)° (3)
2.4 Show, WITHOUT using a calculator, that K10 x /640 x 4/810 x /40 =120 ﬁ%]
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QUESTION 3
3.1 Given the finite linear pattern: 12 ; 17 ; 22 ; ...; 172
3.1.1 Determine a formula for the »” term of the pattern.

CAPS — Grade 11

3.1.2 Calculate the value of 7}, .

3.13 Determine the number of terms in the pattern.
32 Given the first four terms of a linear pattern: 3; x; y; 30
Calculate the values of x and y.
QUESTION 4

Given the quadratic pattern: 244 ;193 ;148 ;109 ...

DBE/November 2017

4.1 Write down the next term of the pattern.

4.2 Determine a formula for the #" term of the pattern.

4.3 Which term of the pattern will have a value of 5087

4.4 Between which TWO consecutive terms of the quadratic pattern will the first
difference be 4537

4.5 Show that all the terms of the quadratic pattern are positive.

QUESTION §

Given: f(x)= x—+32 +1 and g(x)=2""-4

5.1 Determine f(-3).

5.2 Determine x if g(x)=4.

5.3 Write down the asymptotes of f.

5.4 Write down the range of g .

5.5 Determine the coordinates of the x- and y- intercepts of 7.

5.6 Determine the equation of the axis of symmetry of f which has a negative gradient.
Leave your answer in the form y=mx+c.

5.7 Sketch the graphs of f and g on the same system of axes. Clearly show ALL
intercepts with the axes and any asymptotes.

5.8 If it is given that f(—1) = g(~1), determine the values of x for which g(x)> f(x).
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QUESTION 6

The diagram below shows the graphs of f(x) =—x’-x+6 and glx)=mx+c. A(~2 ; 4) is

the point of intersection of the graphs.

3
6.1 Determine the x-intercepts f. 4)
6.2 Write down the equation of the axis of symmetry of f. 2)
6.3 Determine the range of f. (3)
6.4 Write down the equation of g in the form g(x)=mx +c. 3)
6.5 Write down the average gradient between points A and D. (1)
6.6 Determine the equation of A, if 4 is the reflection of f about the x-axis and then

translated 3 units to the right. Leave your answer in the form h(x) =a(x+ p) +¢. 3)

6.7 Write down the values of x for which f(x)> 0. (2)
6.8 If f(p)=f(r)=4,calculate the value of p—-r if r<0. 4)

[22]
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QUESTION 7

7.1 A company bought machinery costing R80 000. Using the reducing balance method,
the machinery had a book value of R20 000 after 5 years.

Calculate the rate of depreciation.

7.2 Calculate the effective interest rate if interest is compounded at 5% p.a., compounded
quarterly.
7.3 Sipho invested R30 000 for 6 years. The investment earned interest at 12% p.a.,

compounded monthly for the first two years. Thereafter the interest rate changed to
10,8% p.a., compounded semi-annually for the rest of the period.

Calculate the value of the investment at the end of 6 years. (No other transactions
were made on the account.)

7.4 Mary deposited R25 000 into a savings account with an interest rate of 18% p.a.,
compounded monthly. Mary withdrew R8 000 from the account 2 years after
depositing the initial amount. She deposited another R4 000 into this account 3%
years after the initial deposit. What amount will Mary have S years after making the
initial deposit in this account?

QUESTION 8

8.1 A bag contains 3 blue marbles and 2 red marbles. A marble is taken from the bag, the
colour is recorded and the marble is put aside. A second marble is taken from the bag,
the colour is recorded and then put aside.

8.1.1 Draw a tree diagram to represent the information above. Show the
probabilities associated with EACH branch, as well as the possible
outcomes.

8.1.2 Determine the probability of first taking a red marble and then taking

a blue marble, in that order.

8.2 A and B are two events. The probability that event A will occur is 0,4 and the
probability that event B will occur is 0,3. The probability that either event A or event
B will occur 1s 0,58.

8.2.1 Are events A and B mutually exclusive?
Justify your answer with appropriate calculations.

822 Are events A and B independent?
Justify your answer with appropriate calculations.
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QUESTION 9

A survey was done among 80 learners on their favourite sport.
The results are shown below.

52 learners like rugby (R)

42 learners like volleyball (V)

5 learners like chess (C) only

14 learners like rugby and volleyball but not chess
12 learners like rugby and chess but not volleyball
15 learners like volleyball and chess but not rugby
x learners like all 3 types of sport

3 learners did not like any sport

9.1 Draw a Venn diagram to represent the information above. )
9.2 Show that x = 8. : (2)
9.3 How many learners like only rugby? (1)
9.4 Calculate the probability that a learner, chosen randomly, likes at least TWO different
types of sport. (3)
[11]
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NOTE:
If a candidate answered a question TWICE, mark only the FIRST attempt.

e If a candidate crossed out an answer and did not redo it, mark the crossed-out answer.
e Consistent accuracy applies to ALL aspects of the marking guidelines.

e Assuming values/answers in order to solve a problem is unacceptable.

LET WEL:

o  As 'n kandidaat 'n vraag TWEE keer beantwoord het, sien slegs die EERSTE poging na.

® As 'n kandidaat 'n antwoord deurgehaal en nie oorgedoen het nie, sien die deurgehaalde
antwoord na.

Volgehoue akkuraatheid is op ALLE aspekte van die nasienriglyne van toepassing.
e Dit is onaanvaarbaar om waardes/antwoorde te veronderstel om 'n probleem op te los.

QUESTION/VRAAG 1 -
1.1.1 (2x-3)x+7)=0
3 vx = 3
x=— or x=-7 2
2 vix =-7
_ )
1.1.2 722 +3x-2=0
—b+.b*—4ac
xX=— ——
2a v'substitution/vervanging
[
-3+ -4
2(7)
—3+4/65 | NOTE/LET WEL:
= _1 4 _ Penalty 1 mark for
incorrect rounding v answer/antwoord
=-0,79 or x = 0,36 Penalisering 1 punt v answer/antwoord
‘ vir verkeerde
| afronding
OR/ OF
x?+ 3 x— 2 =0
7 7
2, 3 9 2 9 2
24 2 3 65
T 196~ 7 196 ‘/(”ﬁ) =196
X+
o) =
3 65
14 14
- ﬂ v answer/antwoord
14 v answer/antwoord
x=-0,79 or x= 0,36
_ E))
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1.1.3 Vx-1+3=x
Jx—-1=x-3 visolate/isoleer N sign/teken
(x/ x—l)2 =(x-3) .| ¥'squaring/kwadr both sides/
x—1=x>—6x+9 beide kante
s v'std form/stand vorm
x"—7x+10=0 v'factors/fakt
(x-2)x-5)=0 vx=5
x#2 orlof x=35 Vix#2
(6)
L14 | x253(x46) :
2 3. 1850 v'std form/vorm
X' —3x-18> v'factors/fakt
(x—6)(x+3)>0
OR/OF x<-3 or x>6xe(-0;-3)U(6; =) Yx<-3 OR/OF (-;-3)
v x>6 OR/OF (6; )
_ 4)
1.2 2y+x=1
x=1-2y vVix=1-2y
x> +3y*43xy+y=0
v'substitution/verv

(1-2y) +y* +3y(1-2y)+y =0
1-4y+4y* +y*+3y-6y° +y=0
1-y* =0

(1-»(1+y)=0

y=1 or y=-1

x=—1o0or x=3

OR/OF

v'std form/stand vorm
v'factors/fakt
v'y-values/wrdes
v'x-values/wrdes

Copyright reserved/Kopieregvoorbehou
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_2y+x:1
_1-x

ry

X*+y +3x+y=0
2
x* + I=x +3x] I=x +1—_x=0
2 2 2

, 1-2x+x* 3x-3x* 1-x
+ - —

4 2 2
4x% +1-2x+x* +6x—6x>+2-2x=0

=0

-x*+2x+3=0
x?—2x-3=0
(x-3)(x+1)=0

x=3 or x=-1

y=—1 or y=1

DBE/November 2017
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1-x
viy=—=
Y 2

v'substitution/verv

| v'std form/stand vorm
v factors/fukt
v'x-values/wrdes

v'y-values/wrdes

' o (6)
1.3 3-12k2=0 v 3-12k*=0
1—4k? =0 1
g =L = T4
4 1
k=i5 2
(3)
3-12k2=0 v'3-12k*=0
1—4k2 =0
(1—2k)1 +2k)=0 v (1-2k)1+2k)=0
1
v k=+—
k=% OR/OF k:—% k=£2
(3)
[24]
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QUESTION/VRAAG 2 o
‘ 2_1 3m+4_6.3m+1
m2
7.3 ¥'common factor/gemene fakt
—3m+1(33_6) \/33_6
7.3"13
3* -6 NRT .
=73 v simplification/vereenv.
n
21
1 v answer/antw.
OR/OF
M v'common factor /gemene fakt
7.3m+2
_3"(3'-6.3) v(3*-6.3)
37(7.3%)
= 3".63 v'simplification/vereenv.
3".63
=1 v’ answet/antw.
4)
221 =3
x4 =8
-3 V23
x* =2’
4 v'rational exponent/
x=(2%)" rasionele eksp
x=2" v' answer in any form/ antw.
1 in enige vorm
| y———_
| 16 (3)
|
OR/OF
3
x* =8 v'use of surds/gebr van wortls
4 x—3 23
v -1 — 4
¥ =2 (2" = 4096) X =2
xt =2 (2* =16)
x =2 v'answer in any form/antw. in
enige vorm
1 3)
16
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222 27 -2 =2 NOTE/ LET WEL: ]
22 _ 9% _9 If answer only of x = 1: award 1/4 marks
B Slegs antwoord van x = 1: gee 1/4 punte v'std vorm/stand vorm
(2" + 1X2’c - 2): 0 v factors/fakt
. . If the learner writes 2x —x =1
2"#-1 or 27 =2 Breakdown: 0/4 marks V=1
x=1 As die leerder 2x — x =1 skryf X
Ontleding: (/4 punte v2i#-l
4)
2.3
(x+y)° = (3 \/_ 4+ \/—] ¥'substitution/verv.
V2
V2
49 v'simplification/vereenv.
"2
1
=24 5 v answer/antw.
OR/OF
(x+p)Y =x>+2xp+y?
2 2
= 3—_-—@ +2 3-Va | 4+a + 4+a v substitution/verv.
| V2 V2 V2 V2
|
= M +2 12-Va-a + 16+8Ja+a v'simplification/vereenv.
2 2 2
_ (25+2f+2a}+(12_\/;_a)
= 22—5+ a+a+12-Ja-a
1
= 245 v answer/antw.
3
2.4 210 .4/64.10 .4/31.10. /4.10 ¥ split the surd/
" skei wortel
=310 .§/2°.10 .4/3*.10. J2%.10 v'prime base/ priem basis
16 1 4 1 2 1 v'rational exponents/
=101 ,26.10%.34.104.22.102 rasionele eksp
12 12
=2x3x2x1012 vioz
=120
OR/OF
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7

=25 8275 43'25.42°5
1 1 7 1 4 1 1 3 1
=212,512 2656 34 24 5422 52

36 4 12

=212 x34 x 512
=2°x3' x5’
=120

Copyright reserved/Kopieregvoorbehou
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v'prime base/ priem basis

v'rational exponents/
rasionele eksp

v'exponent law/ eksp. wet
v'simpification/ vereenv
Q)
(18]
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QUESTION/VRAAG 3
3.1.1 12 17 22
5 5 v 5n
T =5n+7 v+
S 2)
3.1.2 T,=5(12)+7 v'subst/verv
_67 v answer/antw
| _ @)
313 | 5n+7=172 v'5n+7=172
Sn=165
33 v answer/antw
"= @)
32 3 X y 30
AN VRN N —
x-3 y—x 30-y
x-3=y—x Vx-3=y-x
y=2x-3
3=30 30-y=y-x Y 30-y=yox
x_3_3o_y2 3 0+ x=2y
x-3=30-2x+
1= 36 30+x =2(2x-3) v'equating/verg.
x=12 2=
y=21 = v both /beide
y=21 x=12 and/en y=21
“4)
OR/OF
30-3=3d v'v 30-3=3d
3d =27
d=9 vd=9
x=3+9=12 v both /beide
y=12+9=21 x=12 and/en y =21
4
[10]

Copyright reserved/Kopieregvoorbehou

Please turn over/Blaai om asseblief

&\




Mathematics/P1/Wiskunde V1 9 DBE/November 2017
CAPS/KABYV — Grade/Graad 11 — Marking guidelines/Nasienriglyne
_QUESTION/VRAAG 4
4.1
244 \ 193 148 109
-5l —-45 -39
6 6
NOTE/LET WEL:
I, =176 Calc. differences 1/2 marks v Y answer/antw.
bereken verskille: 1/2 punte @)
42  2a=6
a=3
\/ a= 3
3a+b=-51
33)+b=-51
b=—-60 v'b=—60
a+b+c=244
| 3+-60+c =244 ve=301
¢ =301
— 2y’ _
| . @
4.3 3n® —60n+301 =508 vequating/verg.
2 -
3n" —60n—207=0 v'std form/stand vorm
n* —20n-69=0
(n + 3) (l’l _ 23) =0 /factors/fakore
n=23or n=-3 v'select/ kies n=23
. 4)
| 4.4 using first diff./ gebruik eerste versk
T, =6n-57 v 6n-57
453 =6n-57 v'453=6n-57
510=6n
n=285
between Ty, and T inthe quadratic pattern v between Ty and Ty,
tussen Ty, en Ty indie kwadratiese patroon tussen T, en T,
OR/OF @)
In the quadratic pattern / in die kwadratiese patroon
T, —T, =453
3(n+1)* —60(n+1)+301— (3n? — 60n+301) = 453 ,
3n* +6n+3—60n—60—3n° +60n = 453 3(a+1) —60{n+1)+ 301~ 37 - 60m + 301) = 453
6n=>510
n=285 v'n=85
between T and T v between Ty, and T,
tussen Ty en Ty, tussen Iys en Ty,
I )
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4.5

T, =3n" —60n+300+1
=3(n—10)" +1

(n—lO)2 2 0 for/vir neN
3(n-10)* >0

3(n-10)* +1>0

All terms in the pattern are positive/al die terme in die patroon is

positief
OR/OF

Tn =3n* — 60n+301

=3(n-10) +1

T is a minimum valued function with minimum value 1
Range of T: y=>1

All terms in the pattern are positive.

T is funksie met minimum waarde van 1
Waardeversamelingvan T; y > 1

al die terme in die patroon is positief

OR/OF
_b
P 2a
__(-60)
6
=10
g =3(10)> —60(10)+ 301
=1

T is a minimum valued function with minimum value 1
'Range of T: y>1
All terms in the pattern are positive.

T is funksie met minimum waarde van 1
Waardeversamelingvan T, y > 1
‘ al die terme in die patroon is positief

DBE/November 2017

vv'T, =3(n-10) +1

v'v argument
“4)

vv'T, =3(n-10) +1

v'v'argument
|
| v q =1
v'v'argument
“)
[17]
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QUESTION/VRAAG 5
5.1 -3
-3)= +1
/3 -3+2
_4 v answet/antw.
_ _ (1) |
52 4=27_4 vi4=27_4
§=27"
2} =27
x=-3 v answer /antw.
B 2)
53 |x=-2 vVx=-2
y=1 vVy=1
(2)
54 | y>-4 v answet/antw.
(1)
OR/OF
ye (— 4; °°) v answetr/antw.
(1)
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5.5 | y-intercept/afsnir:

y= 0+2 +1 v subst/verv
1 x=0
T2
-1
: . 1 Vy=—
y-intercept/afsnitis | 0 ; ~3 2
x-intercept/afsnit:
0=— 3 +1 v'subst/verv
x+2 y=0
1= -3
x+2
—x—2=-3 v'simplification/vereenv.
pE i vix=1
| X = 1 (5)
| x-intercept/afsnit is (1 ; 0) B
56 | y=—x+c
| 1= —(- 2)+c v'subst/verv
-1=c
y=-x-1 v answer/antw.
2)
OR/OF
y—1=—(x-(-2)) v'subst/verv
y=—x-2+1
y=-x-1 v answer/antw.
L -~ @)

Copyright reserved/Kopieregvoorbehou

& Wi

Please turn over/Blaai om asseblief



Mathematics/P1/Wiskunde V1

13

DBE/November 2017

CAPS/KABYV — Grade/Graad 11 — Marking guidelines/Nasienriglyne

5.7

f

v asympt/asimpt

v'Shape / vorm

v'x and/eny
intercepts / afsnitte

g

v asymptote/asimpt

v x-intercept/afsnit (<2 ; 0)
v'y-intercept/afsnit (0 ; -3)

(6)
58 | x<-3or -2<x<-1 Vi< -
vV-2<x<-1

OR/OF 2
xe(—oo;—3)u (—2;—1] \/(—oo;—3)
v(-2;-1]

2)

[21]
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QUESTION/VRAAG 6
6.1 0=—x>-x+6 - - [ Yy=0
5 60 v'standard form/vorm
X Hx-6= v factors/faktore
(x+3)x-2)=0
x==3 or/of x=2 v'both answers/beide antw
B(=3:0) and C(2:0) @)
6.2 _=b -
T4 NOTE/ LET WEL:
1 If answer only: award 2/2 marks
= %_)) Slegs antwoord : gee 2/2 punte v'method/metode
2(—1 ~
1 v answer/antw.
2
2
OR/ OF
Xt X,
2 v'method/metode
_(3)+0)
2
_ 1 v answer/antw
2 @)
6.3 1
1)
1 (1
.‘_(_EJ _(‘EJM v Subst
1
—6—
4 v 61
1 1 4
TP/DP (——; 6—]
2 4
. 1
Range/waardeversameling y < [— 0 ; 62} v Answer/antw.
OR/OF y < 6% (3)
6.4 | D 6) v coordinates/kodrdinate D
i 6-4
AD T & [ A)
0-(2 \
) -2) v gradient.
= v
Equation of/vergelyking van g: glx)=x+6 answer/antw 3)
|
I - ] |
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| 6.5 Average/Gemid.gradient = gradientof/van g
-1 v answer/antw.
M
6.6 12 25 v" in the form/ in die vorm
f(x):—(x+5J +7 1V 25
f(x)z—(x+—) +—=
1Y 25 24
h(x):(x+——3j -—
2 4 2
2 v [x — ij
ih(x):[x_ij 3 2
2 4 25
v 2=
4
| OR/OF 3)
flx)=—x*-x+6
h(x)=(x-3) +(x-3)-6 v h(x)=(x-3) +(x-3)-6
h(x) = x* - 5x 5y
2 Vi 2
h(x):(x—ij -2 ( 2)
4 25
v 2=
4
| ) @)
6.7 -3<x<2 v'vanswer/antw.
2
OR/OF
xe(-3;2) v’V answer/antw.
_ § E— @
6.8 r=-2 =22
By symmetry/deur simmetrie
p :1 /‘/p = 1
p-r=3 v answer/aniw.
OR/OF 4)
—x'—x+6=4
-x'-x+2=0
¥ +x-2=0
(x+2fx-1)=0
x==-2or/of x=1
r=-2 vr=-2
p=1 vvp=1
p—-r=3 v answer/antw.
“4)
. | [22]
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QUESTION/VRAAG 7
7.1 A4 =P(1-i)
NS
| 20000=80000(1 - /) v substitution into correct
0,25=(1-:f formula/ verv.in korrekte
vorm
340,25=1-i
i=1-3/0,25 v'simplification/vereenvy
i=0,24214417
i=2421% v answet/antw.
S— | = 3)
7.2 . m |
. i
1+i, = (1 + —"—’:”—) v'vorm/vorm
Liio ofqy 005 !
Thy =0T 4 v'subst/verv
Iy = 0,050945336...
Effective rate = 5,09 % p.a. v answer/antw.
_ 3)
73 A=P(+i) .
2x12 ax2 v ( 0,12] h
30000 1+ —
=30000(1+01’122J (1+0’1208) 12
0,12 2x12
=R 58 017,51 v (H ]
’ 12
4x2
v (1 . 0,12 osj
OR/OF v answer/antw.
A =P(1+i) 4)
2x12 2x12
=30000[1+0’12) v'30 000(1+0£J
12 12
~R38092,04 ¥ R38092,04
? 4x2
| | v 38092,04 (n 0’12°8j
4x2 |
A =38092,04 [l + 9, 1208) v answer/antw.
“4)
=R 58 017,51
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5x12 Ix12 1,5%12
A =25000 1+ 018 - 8000 1+ 018 +4000 1+ 0.18
12 12 12

60 36 18
=25000 1+0’18 - 800 1+% +400 1+0’18
12 12 12

=R52636,74

s 018
12

v’ 25000 (1+

3x12
v’ —8000 l—l—%§
12

18
v o+ 4000(1 + 0.l 8]
12

Copyright reserved/Kopieregvoorbehou

v v answer/antw.
OR/OF
2x12 0,18
4, =25000(1+%) v
12 12

=R35737,57

Amount in the account after the withdrawal:/Bedrag in rekening
na onttrekking
R35737,5703—-R 8000

=R 277375703

Amount in the account just before the deposit/bedrag in rekening
voor die deposito

1,5%12
A, =R27737,5703 (1 + 01’128]

=R36262,45279

Amount in the account just after the deposit/Bedrag in rekening na
onttrekking

R 36262,45279 + R4000

=R 40262,45279

Amount in the account at the end of 5 years/Bedrag in rekening
aan die einde van 5 jaar

1,5x12
= 40262,45279(1 + 01’128)

=R52636,74

2x12
v 25000 1 +%j
12

v 27737,57

v'27737,5703 (1 + 01’18

v 4026245

v answer/antw.

1,512 |
?)

(6)
[16]
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QUESTION/VRAAG 8
8.1.1 -
| (B;B)
v'branches/rakke
v'probabilities/waarskynlikhede
|
| (B;R)
v’ outcomes/uitkomste
R ;B)
3
®:R) ®
8.1.2
P(R,By=—x— NOTE/ LET WEL: 2 3
If answer only: award 2/2 marks v ZxZ
3 Slegs antwoord : gee 2/2 punte 5 4
=—=03 | v answer/antwoord
10 9

82.1 | P(A)=04
P(B)=10,3
P(A or B)=0,58

P(A or B)=P(A) +P(B) — P(A and B)
0,58 =0,4+0,3 —P(A and B)
P(AandB) =0,12 20

is nie onderlinguitsluitend nie

Events A and B are not mutually exclusive/Gebeurtenis A en B

v0,58 = 0,4 +0,3 — P(A and B)
v P(A and B) = 0,120

v'Not mutually exclusive/ nie
onderling uitsluitend nie

&)

822 | P(AandB) = 0,12
P(A) x P(B)=0,4 x 0,3
=0,12
.P(A and B) = P(A) x P(B)
A and B are independent events/is onafhanklik

v'P(A) x P(B)=0,4 x 0,3

v'P(A and B) = P(A)x P(B)

| YA and B are independent/is
onafhanklik

€)
[11]
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QUESTION/VRAAG 9
9.1 n(S) = 80 - - o
B B v' 14 or/of 12 or/of 15
R \'%
: Vo
26-x 14 13-x 26-x
B v13-—x
\x
5 3 v'3
C
B o )
9.2 26-x+14+x+12+5+15+13—x+3= 80 v
88—-80 = x 26—x+14+x+12+5+15+13—x+3
x=8 v'equating to/gelyk aan 80
. @)
9.3 | Number who chose Rugby only/aantal wat net rugby kies
=26-8
=18 v answer/antw.
M
9.4 P(At least 2 types of sports /ten minste 2 sportsoorte)
12414 +15+8 v numerator/Noemer
—_— _ | ¥Y'denominator/Teller
NOTE/LET WEL:
_ ﬁ If answer only: award 3/3 marks v answer/antw.
= 20 I Slegs antwoord : gee 3/3 punte 3)
OR/OF
P(at least 2 types of sport/ten minste 2 sportsoorte)
18+5+5+3 y18+5+5+3
=1- ——— 80
v'method/metode
31
=1-==
80
_ 49
T80 v answer/antw.
3)
o [11]

Copyright reserved/Kopiereg voorbehou

& |

TOTAL/TOTAAL: 150




